ot 1”4 AB = BC = CD °|x
/CDE = 130° € ®, .CAB ¢ 27]=7?

® 15° @ 20° (@)25°
@ 30° ® 35°

A

£CBD = £CDB = 50°,
(ABC =180°-50°=130°
. LCAB = (180°-130°) +2=25°




2.

&3t -8 AABCOA AB = AC = 8cm ¥ T,
(x ] 3717

©4O° @ 45° ® 50° @ 55°

® 60°

AABC € olsHdZgol =
(ACB =170°
e x = 180° - 2x 70° = 40°

ofl




o1 oSN

o] BC = BD 7} =% AC $Jo] A D

A

@® 20° @ 30° @ 40° @ 50° ® 60°

~&B

ABCD o4 BC = BD ©|2& o]5HAIZ}g
(BDC = /BCD = 70°

AABC = AB = AC ¢l o] 5847t golng
(ABC = /ACB = 70°

wat A zx 4+ /ABC + /ACB = 180° |22
Lx + 70° + 70° = 180°

Lx + 140° = 180°

ooLx = 40°




e

Q120 AABC ol 4]

(ABC = /ACB°]|22 AABC: o|5H Az o]t}

SLox=8

T, Q2Z0] AABC A

(BCA =180° - (30° + 75°) = 75°0] 2 & AABC = o|5H A}
Z}gg ot

. x=10

s (x9] dol 3H)=8+410 =18

oflh




= % M2 &ed A7F vraA FA o A2 (FE 2 7H)

(7}) - (‘/E h _,. @
i \ ﬁ 20°

® eheteEh @ebaehy G@eheEh
@ Gheth  ©® (bekEh

(?h ek (%) = RHS ?
(Wh ek (=h) = RHA

[ ol
offt ©f

ST

o




o2 I9oA AB = AC = CD°|1

/BAC = 100°<Q o], /DCE 9] 27]& F A

stodat, 100°
B

AB=ACo|EZ2

(B = /ACB = ~(180°-100°) = 40°©°|c},

DN | =

AC=DCo|EZ
(D = /CAD = 180° - 100° = 80°°|tt.
whetA] /DCE = /B + /D = 40° 4 80° = 120°




7.

oS 12894 AABC = U o= e B! .
- 39 D 2t @ o, x o] Aol S Patelel.

ol 52 40] AC 9} whis

362 72°
15'
st 20
~-8cm--

(A = 36° ©]1l, AABC 7} o] 5HAZFEolBER /B = /C =
1
5 X (180° = 36°) = 72° o]},

/ABD = /CBD = 36° ©|2& AABD = T UjZte] 227171 24
%1, /BCD = /BDC = 72° ©|E2 2 ABCD & 5 Wz+e] 37]7}
Zonz o]FHAZIol.

u}2tA BC = BD = AD = 8cm ©|t}.




8. The YT 2ol AABC 7h Fol A, x, y ] ZLLY

® x=6,y=50° @ x=7,y=45°
@xz?,y:50° @ x=17,y=65°
® x=8, y=50°

ofl

/ACB = 65° 0|22 AABC = o]SHAZIH o[t}
Lx=7
12831y =180°-65°%x2=150°




N
ofl dlo
= 4
2 o
o B
O, MY
| s
) D>|
N o)
~
> Uj|
o a
o
ojt 1N,
Hr 1N
9,
o, o
rE

e = R

2t1 gt BD = 5em € W, CE 9] Zo]
otoizt,

= cm

[ 2
> Hehl 5 cm

Q

“5cm” D

B

AABD = AAED (RHA %)

. BD = ED
/ACB = 45°°0]|2 & /EDC = 45°

.. BD = CE = 5(cm)




10. o 2" 2ol /C =90° o AZHZE ABC °A A 9] o]

o

>
> ®eh: 22cm?

AABD:%XEXW

_ Ll ABxDC

= 5 X 11x4 =22 (ew?)




11.

o 283 2ol € =
10cm, 6cm Q1 A 7242 A

Thi= & D 2 gtk A& DC 9] Zo]7h 3em & o, A
dol& Fotefzt.

90° o] W AB, AC ¢ Zol7} ztzt

S

o A
10em™ .
e 6cm
Ve 1
B D3cm’ v
> cCt cm
> e 5 cm

e

ol

A D oA AB o & 419 IS F 2
AAFD €} AACD oA

/AFD = /ACD = 90°, AD & &%
(FAD = /CAD

o]E2 AAFD = AACD (RHA %)

-. DF = DC = 3cm

b 4H2Ee ABD 9] HWol=

xﬁxﬁ;%xﬁxm

><10><3:1 BD x 6

N = N =
[N

~ BD =5 (cm)




12. 2 239 AABC 94 ¥ BC o 24 DatstAt A DA W
AB, AC| Y& =42 9-s ZAZH E, Fet 5t, DE = DF & o,

[e] o
=% w4 2 A2

i=1

A

® EB =FC
@ /EBD = (FCD

ol

® AABC + o] 54zt
@AEBD = AFCD (RHA

® AAED = AAFD (RHS

ok
of

o
of

@ AEBD = AFCD (RHS &




